
No replacement,   
please ask your     
local dealer

SQ²                                  
Piccolo Snare Drum

SQ² Piccolo Snare Drum                 
with steel hoop

No replacement,   
please ask your     
local dealer

No replacement,   
please ask your     
local dealer

190 011 01

4 pcs / pack

SQ² Piccolo Snare Drum                   
with die - cast hoop  

only for 14“



190 374 01

2 pcs / pack

Piccolo Lug    complete 

190 373 01  chrome

190 373 05  gold

190 373 07  aranja

Square head screw 65mm

6 pcs / pack

190 279 01  chrome

190 279 05  gold

190 279 07  aranja

Slotted screw 65mm

6 pcs / pack

190 375 01  chrome

190 375 05  gold

190 375 07 aranja

190 269 01   

Torx – screw

ø5x13

20 pcs / pack  

for Vintage shell

for Thin shell

for Medium shell

for Acrylic shell 

for Heavy shell

190 270 01   

Torx – screw

ø5x16

20 pcs / pack  



Badge / Logo,  chrome   No. 190 344 01
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)

Badge / Logo,  gold        No. 190 344 05
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)

Badge / Logo,  aranja     No. 190 344 07
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)



Snare Strainer completeSnare Butt complete

190 443 01  chrome

190 443 05  gold

190 443 07  black chrome

190 442 01  chrome 

190 442 05  gold

190 442 07  black chrome



Snare Butt spare parts Snare Strainer spare parts

190 448 01

190 446 01  chrome 

190 446 05  gold

190 446 07  black chrome

190 448 01

190 447 01  chrome 

190 447 05  gold

190 447 07  black chrome

190 450 01

190 450 01

190 451 01  chrome 

190 451 05  gold

190 451 07  black chrome

190 449 01
4 pcs/pack

190 444 01  chrome 

190 444 05  gold

190 444 07  black chrome

190 444 01  chrome 

190 444 05  gold

190 444 07  black chrome

190 445 01  chrome 

190 445 05  gold

190 445 07  black chrome

190 449 01
4 pcs/pack



Drum steel hoop for batter side

10“   6 Rods    145 941 46   chrome
10“   6 Rods    190 124 05   gold
10“   6 Rods    190 124 07   aranja

12“   8 Rods    190 118 01   chrome
12“   8 Rods    190 118 05   gold
12“   8 Rods    190 118 07   aranja 

13“   8 Rods    190 120 01   chrome 
13“   8 Rods    190 120 05   gold
13“   8 Rods    190 120 07   aranja

14“  10 Rods    190 122 01   chrome
14“  10 Rods    190 122 05   gold
14“  10 Rods    190 122 07   aranja

Drum steel hoop for resonance side

10“   6 Rods    145 941 47   chrome
10“   6 Rods    190 125 05   gold
10“   6 Rods    190 125 07   aranja

12“   8 Rods    190 119 01   chrome
12“   8 Rods    190 119 05   gold
12“   8 Rods    190 119 07   aranja 

13“   8 Rods    190 121 01   chrome 
13“   8 Rods    190 121 05   gold
13“   8 Rods    190 121 07   aranja

14“  10 Rods    190 123 01   chrome
14“  10 Rods    190 123 05   gold
14“  10 Rods    190 123 07   aranja



Die-cast hoop for batter side

only for 14“ Snare Drum

190 003 01  chrome

190 003 05  gold

190 003 07  aranja

Die-cast hoop for resonance side

only for 14“ Snare Drum
190 004 01  chrome

190 004 05  gold

190 004 07  aranja



SQ²                            
Snare Drums 2012

No replacement,   
please ask your     
local dealer

SQ² Snare Drums                   
with steel hoop

No replacement,   
please ask your     
local dealer

No replacement,   
please ask your     
local dealer

190 011 01

4 pcs / pack

SQ² Snare Drum                   
with die - cast hoop

only for 14“ 



Lug complete 

190 341 01  chrome

190 341 05  gold

190 341 07  aranja

190 342 01

each 2 pcs / pack

190 269 01   

Torx – screw

ø5x13

20 pcs / pack  

for Vintage shell

for Thin shell

for Medium shell

for Acrylic shell 

for Heavy shell

190 270 01   

Torx – screw

ø5x16

20 pcs / pack  



190 335 01  chrome                         
190 335 05  gold                          
190 335 07  aranja

Shell - Depth

x5“ / x5 ½“  
60mm

x6“ / x6 ½“  70mm
190 336 01  chrome                         
190 336 05  gold                          

LengthNo.                  

Square head screw

6 pcs / pack

x6“ / x6 ½“  

x7“ / x7 ½“ / x8“

70mm

56mm

190 336 05  gold                          
190 336 07  aranja

190 255 01  chrome                         
190 255 05  gold                          
190 255 07  aranja



190 376 01  chrome                         
190 376 05  gold                          
190 376 07  aranja

Shell - Depth

x5“ / x5 ½“  60mm

x6“ / x6 ½“  70mm
190 377 01  chrome                         
190 377 05  gold                          

LengthNo.                  

Slotted screw

6 pcs / pack

x6“ / x6 ½“  

x7“ / x7 ½“ / x8“

70mm

56mm

190 377 05  gold                          
190 377 07  aranja

190 343 01  chrome                         
190 343 05  gold                          
190 343 07  aranja



Badge / Logo,  chrome   No. 190 344 01
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)

Badge / Logo,  gold        No. 190 344 05
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)

Badge / Logo,  aranja     No. 190 344 07
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)



Snare Strainer complete
Snare Butt complete

190 443 01  chrome

190 443 05  gold

190 443 07  black chrome

190 442 01  chrome 

190 442 05  gold

190 442 07  black chrome



Snare Butt spare parts Snare Strainer spare parts

190 448 01

190 446 01  chrome 

190 446 05  gold

190 446 07  black chrome

190 448 01

190 447 01  chrome 

190 447 05  gold

190 447 07  black chrome

190 450 01

190 450 01

190 451 01  chrome 

190 451 05  gold

190 451 07  black chrome

190 449 01
4 pcs/pack

190 444 01  chrome 

190 444 05  gold

190 444 07  black chrome

190 444 01  chrome 

190 444 05  gold

190 444 07  black chrome

190 445 01  chrome 

190 445 05  gold

190 445 07  black chrome

190 449 01
4 pcs/pack



Drum steel hoop for batter side

10“   6 Rods    145 941 46   chrome
10“   6 Rods    190 124 05   gold
10“   6 Rods    190 124 07   aranja

12“   8 Rods    190 118 01   chrome
12“   8 Rods    190 118 05   gold
12“   8 Rods    190 118 07   aranja 

13“   8 Rods    190 120 01   chrome 
13“   8 Rods    190 120 05   gold
13“   8 Rods    190 120 07   aranja

14“  10 Rods    190 122 01   chrome
14“  10 Rods    190 122 05   gold
14“  10 Rods    190 122 07   aranja

Drum steel hoop for resonance side

10“   6 Rods    145 941 47   chrome
10“   6 Rods    190 125 05   gold
10“   6 Rods    190 125 07   aranja

12“   8 Rods    190 119 01   chrome
12“   8 Rods    190 119 05   gold
12“   8 Rods    190 119 07   aranja 

13“   8 Rods    190 121 01   chrome 
13“   8 Rods    190 121 05   gold
13“   8 Rods    190 121 07   aranja

14“  10 Rods    190 123 01   chrome
14“  10 Rods    190 123 05   gold
14“  10 Rods    190 123 07   aranja



Die-cast hoop for batter side

only for 14“ Snare Drum

190 003 01  chrome

190 003 05  gold

190 003 07  aranja

Die-cast hoop for resonance side

only for 14“ Snare Drum
190 004 01  chrome

190 004 05  gold

190 004 07  aranja



SQ²                            
Snare Drums 2012

No replacement,   
please ask your
local dealer

SQ² Snare Drums                   
with steel hoop

No replacement,   
please ask your
local dealer

No replacement,   
please ask your
local dealer

190 011 01

4 pcs / pack

SQ² Snare Drum                   
with die - cast hoop

only for 14“ 



Lug complete 

190 341 01  chrome

190 341 05  gold

190 341 07  aranja

190 342 01

each 2 pcs / pack

190 269 01   

Torx – screw

ø5x13

20 pcs / pack  

for Vintage shell

for Thin shell

for Medium shell

for Acrylic shell 

for Heavy shell

190 270 01   

Torx – screw

ø5x16

20 pcs / pack  



190 335 01  chrome                         
190 335 05  gold                          
190 335 07  aranja

Shell - Depth

x5“ / x5 ½“  
60mm

x6“ / x6 ½“  70mm
190 336 01  chrome                         
190 336 05  gold                          

LengthNo.                  

Square head screw

6 pcs / pack

x6“ / x6 ½“  

x7“ / x7 ½“ / x8“

70mm

56mm

190 336 05  gold                          
190 336 07  aranja

190 255 01  chrome                         
190 255 05  gold                          
190 255 07  aranja



190 376 01  chrome                         
190 376 05  gold                          
190 376 07  aranja

Shell - Depth

x5“ / x5 ½“  60mm

x6“ / x6 ½“  70mm
190 377 01  chrome                         
190 377 05  gold                          

LengthNo.                  

Slotted screw

6 pcs / pack

x6“ / x6 ½“  

x7“ / x7 ½“ / x8“

70mm

56mm

190 377 05  gold                          
190 377 07  aranja

190 343 01  chrome                         
190 343 05  gold                          
190 343 07  aranja



Badge / Logo,  chrome   No. 190 344 01
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)

Badge / Logo,  gold        No. 190 344 05
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)

Badge / Logo,  aranja     No. 190 344 07
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)



Snare Strainer complete
Snare Butt complete

190 443 01  chrome

190 443 05  gold

190 443 07  black chrome

190 442 01  chrome 

190 442 05  gold

190 442 07  black chrome



Snare Butt spare parts Snare Strainer spare parts

145 990 25

145 990 20  chrome 

145 990 21  gold

145 990 22  black chrome

145 990 25

145 990 31  chrome 

145 990 23  gold

145 990 24  black chrome

145 990 27

145 990 27

145 990 28  chrome 

145 990 29  gold

145 990 30  black chrome

145 990 26
4 pcs/pack

145 990 14  chrome 

145 990 15  gold

145 990 16  black chrome

145 990 14  chrome 

145 990 15  gold

145 990 16  black chrome

145 990 17  chrome 

145 990 18  gold

145 990 19  black chrome

145 990 26
4 pcs/pack



Drum steel hoop for batter side

10“   6 Rods    145 941 46   chrome
10“   6 Rods    190 124 05   gold
10“   6 Rods    190 124 07   aranja

12“   8 Rods    190 118 01   chrome
12“   8 Rods    190 118 05   gold
12“   8 Rods    190 118 07   aranja 

13“   8 Rods    190 120 01   chrome 
13“   8 Rods    190 120 05   gold
13“   8 Rods    190 120 07   aranja

14“  10 Rods    190 122 01   chrome
14“  10 Rods    190 122 05   gold
14“  10 Rods    190 122 07   aranja

Drum steel hoop for resonance side

10“   6 Rods    145 941 47   chrome
10“   6 Rods    190 125 05   gold
10“   6 Rods    190 125 07   aranja

12“   8 Rods    190 119 01   chrome
12“   8 Rods    190 119 05   gold
12“   8 Rods    190 119 07   aranja 

13“   8 Rods    190 121 01   chrome 
13“   8 Rods    190 121 05   gold
13“   8 Rods    190 121 07   aranja

14“  10 Rods    190 123 01   chrome
14“  10 Rods    190 123 05   gold
14“  10 Rods    190 123 07   aranja



Die-cast hoop for batter side

only for 14“ Snare Drum

190 003 01  chrome

190 003 05  gold

190 003 07  aranja

Die-cast hoop for resonance side

only for 14“ Snare Drum
190 004 01  chrome

190 004 05  gold

190 004 07  aranja



SQ² Snare Drums
with steel hoop

SQ² Snare Drum                   
with die - cast hoop

only for 14“

SQ²
Snare Drums

No replacement,   
please ask your
local dealer

No replacement,   
please ask your
local dealer

No replacement,   
please ask your
local dealer

190 011 01

4 pcs / pack



Lug complete

190 341 01  chrome

190 341 05  gold

190 341 07  aranja

190 342 01

each 2 pcs / pack

190 269 01   

Torx – screw

ø5x13

20 pcs / pack  

for Vintage shell

for Thin shell

for Medium shell

for Acrylic shell

for Heavy shell

190 270 01   

Torx – screw

ø5x16

20 pcs / pack  



Square head screw

6 pcs / pack

190 335 01  chrome
190 335 05  gold                          
190 335 07  aranja

Shell - Depth

x5“ / x5 ½“
60mm

x6“ / x6 ½“

x7“ / x7 ½“ / x8“

70mm

56mm

190 336 01  chrome
190 336 05  gold                          
190 336 07  aranja

190 255 01  chrome
190 255 05  gold                          
190 255 07  aranja

LengthNo.                  



Slotted screw

6 pcs / pack

190 376 01  chrome
190 376 05  gold                          
190 376 07  aranja

Shell - Depth

x5“ / x5 ½“ 60mm

x6“ / x6 ½“

x7“ / x7 ½“ / x8“

70mm

56mm

190 377 01  chrome
190 377 05  gold                          
190 377 07  aranja

190 343 01  chrome
190 343 05  gold                          
190 343 07  aranja

LengthNo.                  



Badge / Logo,  chrome No. 190 344 01
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)

Badge / Logo,  gold        No. 190 344 05
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)

Badge / Logo,  aranja No. 190 344 07
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)



Snare Strainer complete

190 276 01  chrome

190 276 05  gold

190 276 07 aranja

Snare Butt complete

190 323 01  chrome

190 323 05  gold

190 323 07  aranja

190 276 01  chrome

190 276 05  gold

190 276 07 aranja

190 322 01 chrome

190 322 05  gold

190 322 07 aranja

190 270 01   

Torx – screw

ø5x16

20 pcs / pack  



190 270 01   

Torx – screw

ø5x16

20 pcs / pack  

190 372 01  chrome

190 372 05  gold

190 372 07 aranja

Snare Butt complete

190 371 01  chrome

190 371 05  gold

190 371 07  aranja

Snare Strainer complete

190 372 01  chrome

190 372 05  gold

190 372 07 aranja

190 370 01 chrome

190 370 05  gold

190 370 07 aranja



Drum steel hoop for batter side

Drum steel hoop for resonance side

10“ 6 Rods    145 941 46   chrome
10“ 6 Rods    190 124 05   gold
10“ 6 Rods    190 124 07   aranja

12“ 8 Rods    190 118 01   chrome
12“ 8 Rods    190 118 05   gold
12“ 8 Rods    190 118 07   aranja

13“ 8 Rods    190 120 01   chrome
13“ 8 Rods    190 120 05   gold
13“ 8 Rods    190 120 07   aranja

14“ 10 Rods    190 122 01   chrome
14“ 10 Rods    190 122 05   gold
14“ 10 Rods    190 122 07   aranja

10“ 6 Rods    145 941 47   chrome
10“ 6 Rods    190 125 05   gold
10“ 6 Rods    190 125 07   aranja

12“ 8 Rods    190 119 01   chrome
12“ 8 Rods    190 119 05   gold
12“ 8 Rods    190 119 07   aranja

13“ 8 Rods    190 121 01   chrome
13“ 8 Rods    190 121 05   gold
13“ 8 Rods    190 121 07   aranja

14“ 10 Rods    190 123 01   chrome
14“ 10 Rods    190 123 05   gold
14“ 10 Rods    190 123 07   aranja



Die-cast hoop for batter side

Die-cast hoop for resonance side

only for 14“ Snare Drum

190 003 01  chrome

190 003 05  gold

190 003 07  aranja

only for 14“ Snare Drum
190 004 01  chrome

190 004 05  gold

190 004 07  aranja



SQ² Bass Drums
Bass Drum                   
No mount

Bass Drum with
BD Bracket

Bass Drum with
Mounting plate



Claw Hooks
190 349 01  chrome

190 349 05  gold

190 349 07  aranja

Easy-grip rods
190 350 01  chrome

190 350 05  gold

190 350 07  aranja

3 pcs / pack



Lug complete
190 341 01  chrome

190 341 05  gold

190 341 07  aranja

190 342 01

each 2 pcs / pack

190 270 01   

Torx – screw

ø5x16

20 pcs / pack  



Badge / Logo,  chrome No. 190 344 01

Badge / Logo,  gold        No. 190 344 05

Badge / Logo,  aranja No. 190 344 07    



190 266 01 chrome

190 266 05  gold

190 26607  aranja

Memory Lock complete
145 017 01  chrome

190 346 05  gold

190 346 07 aranja

190 039 01

190 270 01 
20 pcs / pack

190 040 01  chrome

190 040 05  gold

190 040 07  arnaja

each 2 pcs / pack

Prism Clamp complete
190 036 01  chrome

190 036 05  gold

190 036 07  aranja BD Spurs right complete
190 034 01  chrome

190 034 05  gold

190 034 07  aranja



BD Spurs left complete
190 035 01  chrome

190 035 05  gold

190 035 07  aranja

190 266 01 chrome

190 266 05  gold

190 26607  aranja

Memory Lock 
complete
145 018 01  chrome

190 347 05  gold

190 347 07 aranja

Prism Clamp complete
190 036 01  chrome

190 036 05  gold

190 036 07  aranja

190 039 01

190 270 01 
20 pcs / pack

190 040 01  chrome

190 040 05  gold

190 040 07  arnaja

each 2 pcs / pack



Prism Clamp + Adapter 
for SQ² 16“ Bass Drum

190 270 01 
20 pcs / pack

190 266 01 chrome

190 266 05  gold

190 26607  aranja

Prism Clamp complete
190 036 01  chrome

190 036 05  gold

190 036 07  aranja

Adapter
145 941 66 chrome

190 358 05  gold

190 358 07  aranja



190 270 01   

Torx – screw

ø5x16

20 pcs / pack  

BD Bracket

145 234 01  chrome

190 348 05  gold

190 348 07  aranja



Mounting plate

BD Mounting plate x22“ aranja190 357 07

BD Mounting plate x22“ gold 190 357 05

BD Mounting plate x22“ chrome190 357 01

BD Mounting plate x20“ aranja190 356 07

BD Mounting plate x20“ gold 190 356 05

BD Mounting plate x20“ chrome190 356 01

BD Mounting plate x18“ aranja190 355 07

BD Mounting plate x18“ gold 190 355 05

BD Mounting plate x18“ chrome190 355 01

BD Mounting plate x16“ aranja190 354 07

BD Mounting plate x16“ gold 190 354 05

BD Mounting plate x16“ chrome190 354 01

BD Mounting plate x14“ aranja190 353 07

BD Mounting plate x14“ gold 190 353 05

BD Mounting plate x14“ chrome190 353 01



16“

18“

20“

22“

24“

26“

Drum Hoop

190 028 01

3 pcs / pack



SQ² Floor Toms
No replacement,   
please ask your

local dealer



Square head screw 56mm

6 pcs / pack

190 255 01  chrome

190 255 05  gold

190 255 07  aranja

Slotted screw 56mm

6 pcs / pack

190 343 01  chrome

190 343 05  gold

190 343 07 aranja

Lug complete

190 341 01  chrome

190 341 05  gold

190 341 07  aranja

190 342 01

each 2 pcs / pack

190 269 01   

Torx – screw

ø5x13

20 pcs / pack  

for Vintage shell

for Thin shell

for Medium shell

for Acrylic shell

for Heavy shell

190 270 01   

Torx – screw

ø5x16

20 pcs / pack  



Badge / Logo,  chrome No. 190 344 01
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)

Badge / Logo,  gold        No. 190 344 05
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)

Badge / Logo,  aranja No. 190 344 07
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)



Prism clamp complete

190 036 01   chrome

190 036 05   gold

190 036 07   aranja

190 266 01  chrome

190 266 05  gold

190 266 07  aranja

Floor Tom leg complete

190 068 01  chrome

190 068 05  gold

190 068 07  aranja

190 075 01

190 269 01   

Torx – screw

ø5x13

20 pcs / pack  

for Vintage shell

for Thin shell

for Medium shell

for Acrylic shell

for Heavy shell

190 270 01   

Torx – screw

ø5x16

20 pcs / pack  



14“ 8 Rods   190 054 01   chrome

14“ 8 Rods   190 054 05   gold

14“ 8 Rods   190 054 07   aranja

15“ 8 Rods   190 049 01   chrome

15“ 8 Rods   190 049 05   gold

15“ 8 Rods   190 049 07   aranja

16“ 8 Rods   190 055 01   chrome

16“ 8 Rods   190 055 05   gold

16“ 8 Rods   190 055 07   aranja

18“ 8 Rods   190 117 01   chrome

18“ 8 Rods   190 117 05   gold

18“ 8 Rods   190 117 07   aranja

14“

15“

16“

18“

Hoops:



SQ² Gong Toms



Claw Hooks
190 029 01  chrome

190 029 05  gold

190 029 07  aranja

Square Head screw 130mm
190 351 01  chrome

190 351 05  gold

190 351 07  aranja

3 pcs / pack

Slotted screw 130mm
190 352 01  chrome

190 352 05  gold

190 352 07  aranja

3 pcs / pack



Lug complete
190 341 01  chrome

190 341 05  gold

190 341 07  aranja

190 342 01

each 2 pcs / pack

190 269 01   

Torx – screw

ø5x13

20 pcs / pack  

for Vintage shell

for Thin shell

for Medium shell

for Acrylic shell

for Heavy shell

190 270 01   

Torx – screw

ø5x16

20 pcs / pack  



Badge / Logo,  chrome No. 190 344 01
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)

Badge / Logo,  gold        No. 190 344 05
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)

Badge / Logo,  aranja No. 190 344 07
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)



190 266 01 chrome

190 266 05  gold

190 26607  aranja

Prism Clamp complete
190 036 01  chrome

190 036 05  gold

190 036 07  aranja

190 269 01   

Torx – screw

ø5x13

20 pcs / pack  

for Vintage shell

for Thin shell

for Medium shell

for Acrylic shell

for Heavy shell

190 270 01   

Torx – screw

ø5x16

20 pcs / pack  



Gong Tom Hoop

18“

20“

22“ 30mm

„Only on inquiry“

Please ask your
local dealer.

To find your Gong Tom Hoop configuration
please go to:

www.sq2-drumsystem.com

- Select „Index of contents“

- Choose „find Unique Print ID (UPID)“

- Enter your valid UPID number or

SQ² serial number



No replacement,   
please ask your
local dealer

SQ²                                  
Piccolo Snare Drum

SQ² Piccolo Snare Drum                 
with steel hoop

No replacement,   
please ask your
local dealer

No replacement,   
please ask your     
local dealer

190 011 01

4 pcs / pack

SQ² Piccolo Snare Drum                   
with die - cast hoop  

only for 14“



190 374 01

2 pcs / pack

Piccolo Lug    complete 

190 373 01  chrome

190 373 05  gold

190 373 07  aranja

Square head screw 65mm

6 pcs / pack

190 279 01  chrome

190 279 05  gold

190 279 07  aranja

Slotted screw 65mm

6 pcs / pack

190 375 01  chrome

190 375 05  gold

190 375 07 aranja

190 269 01   

Torx – screw

ø5x13

20 pcs / pack  

for Vintage shell

for Thin shell

for Medium shell

for Acrylic shell 

for Heavy shell

190 270 01   

Torx – screw

ø5x16

20 pcs / pack  



Badge / Logo,  chrome   No. 190 344 01
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)

Badge / Logo,  gold        No. 190 344 05
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)

Badge / Logo,  aranja     No. 190 344 07
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)



Snare Strainer completeSnare Butt complete

190 443 01  chrome

190 443 05  gold

190 443 07  black chrome

190 442 01  chrome 

190 442 05  gold

190 442 07  black chrome



Snare Butt spare parts Snare Strainer spare parts

145 990 25

145 990 20  chrome 

145 990 21  gold

145 990 22  black chrome

145 990 25

145 990 31  chrome 

145 990 23  gold

145 990 24  black chrome

145 990 27

145 990 27

145 990 28  chrome 

145 990 29  gold

145 990 30  black chrome

145 990 26
4 pcs/pack

145 990 14  chrome 

145 990 15  gold

145 990 16  black chrome

145 990 14  chrome 

145 990 15  gold

145 990 16  black chrome

145 990 17  chrome 

145 990 18  gold

145 990 19  black chrome

145 990 26
4 pcs/pack



Drum steel hoop for batter side

10“   6 Rods    145 941 46   chrome
10“   6 Rods    190 124 05   gold
10“   6 Rods    190 124 07   aranja

12“   8 Rods    190 118 01   chrome
12“   8 Rods    190 118 05   gold
12“   8 Rods    190 118 07   aranja 

13“   8 Rods    190 120 01   chrome 
13“   8 Rods    190 120 05   gold
13“   8 Rods    190 120 07   aranja

14“  10 Rods    190 122 01   chrome
14“  10 Rods    190 122 05   gold
14“  10 Rods    190 122 07   aranja

Drum steel hoop for resonance side

10“   6 Rods    145 941 47   chrome
10“   6 Rods    190 125 05   gold
10“   6 Rods    190 125 07   aranja

12“   8 Rods    190 119 01   chrome
12“   8 Rods    190 119 05   gold
12“   8 Rods    190 119 07   aranja 

13“   8 Rods    190 121 01   chrome 
13“   8 Rods    190 121 05   gold
13“   8 Rods    190 121 07   aranja

14“  10 Rods    190 123 01   chrome
14“  10 Rods    190 123 05   gold
14“  10 Rods    190 123 07   aranja



Die-cast hoop for batter side

only for 14“ Snare Drum

190 003 01  chrome

190 003 05  gold

190 003 07  aranja

Die-cast hoop for resonance side

only for 14“ Snare Drum
190 004 01  chrome

190 004 05  gold

190 004 07  aranja



SQ² Piccolo Snare Drum                 
with steel hoop

No replacement,   
please ask your
local dealer

No replacement,   
please ask your
local dealer

No replacement,   
please ask your
local dealer

190 011 01

4 pcs / pack

SQ²
Piccolo Snare Drum

SQ² Piccolo Snare Drum                   
with die - cast hoop

only for 14“



Square head screw 65mm

6 pcs / pack

190 279 01  chrome

190 279 05  gold

190 279 07  aranja

Slotted screw 65mm

6 pcs / pack

190 375 01  chrome

190 375 05  gold

190 375 07 aranja

190 374 01

2 pcs / pack

190 269 01   

Torx – screw

ø5x13

20 pcs / pack  

for Vintage shell

for Thin shell

for Medium shell

for Acrylic shell

for Heavy shell

190 270 01   

Torx – screw

ø5x16

20 pcs / pack  

Piccolo Lug    complete

190 373 01  chrome

190 373 05  gold

190 373 07  aranja



Badge / Logo,  chrome No. 190 344 01
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)

Badge / Logo,  gold        No. 190 344 05
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)

Badge / Logo,  aranja No. 190 344 07
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)



Snare Strainer complete

190 276 01  chrome

190 276 05  gold

190 276 07 aranja

Snare Butt complete

190 323 01  chrome

190 323 05  gold

190 323 07  aranja

190 276 01  chrome

190 276 05  gold

190 276 07 aranja

190 322 01 chrome

190 322 05  gold

190 322 07 aranja

190 270 01   

Torx – screw

ø5x16

20 pcs / pack  



190 270 01   

Torx – screw

ø5x16

20 pcs / pack  

190 372 01  chrome

190 372 05  gold

190 372 07 aranja

Snare Butt complete

190 371 01  chrome

190 371 05  gold

190 371 07  aranja

Snare Strainer complete

190 372 01  chrome

190 372 05  gold

190 372 07 aranja

190 370 01 chrome

190 370 05  gold

190 370 07 aranja



Drum steel hoop for batter side

Drum steel hoop for resonance side

10“ 6 Rods    145 941 46   chrome
10“ 6 Rods    190 124 05   gold
10“ 6 Rods    190 124 07   aranja

12“ 8 Rods    190 118 01   chrome
12“ 8 Rods    190 118 05   gold
12“ 8 Rods    190 118 07   aranja

13“ 8 Rods    190 120 01   chrome
13“ 8 Rods    190 120 05   gold
13“ 8 Rods    190 120 07   aranja

14“ 10 Rods    190 122 01   chrome
14“ 10 Rods    190 122 05   gold
14“ 10 Rods    190 122 07   aranja

10“ 6 Rods    145 941 47   chrome
10“ 6 Rods    190 125 05   gold
10“ 6 Rods    190 125 07   aranja

12“ 8 Rods    190 119 01   chrome
12“ 8 Rods    190 119 05   gold
12“ 8 Rods    190 119 07   aranja

13“ 8 Rods    190 121 01   chrome
13“ 8 Rods    190 121 05   gold
13“ 8 Rods    190 121 07   aranja

14“ 10 Rods    190 123 01   chrome
14“ 10 Rods    190 123 05   gold
14“ 10 Rods    190 123 07   aranja



Die-cast hoop for batter side

Die-cast hoop for resonance side

only for 14“ Snare Drum

190 003 01  chrome

190 003 05  gold

190 003 07  aranja

only for 14“ Snare Drum
190 004 01  chrome

190 004 05  gold

190 004 07  aranja



SQ² Snare Drums 2013 
with Double - Lugs

No replacement,   
please ask your
local dealer

SQ² Snare Drums                   
with steel hoop

No replacement,   
please ask your
local dealer

No replacement,   
please ask your
local dealer

190 011 01

4 pcs / pack

SQ² Snare Drum                   
with die - cast hoop

only for 14“ 



Double - Lug   complete

190 473 01  chrome

190 473 05  gold

190 473 07  aranja

190 474 01

each 2 pcs / pack

190 269 01   

Torx – screw

ø5x13

20 pcs / pack  

for Vintage shell

for Thin shell

for Medium shell

for Acrylic shell 

for Heavy shell

190 270 01   

Torx – screw

ø5x16

20 pcs / pack  



190 335 01  chrome                         
190 335 05  gold                          
190 335 07  aranja

Shell - Depth

x5“ / x5 ½“  
50mm

x6“ / x6 ½“  65mm
190 336 01  chrome                         
190 336 05  gold                          

LengthNo.                  

Square head screw

6 pcs / pack

x6“ / x6 ½“  

x7“ / x7 ½“ / x8“

65mm

56mm

190 336 05  gold                          
190 336 07  aranja

190 255 01  chrome                         
190 255 05  gold                          
190 255 07  aranja



190 376 01  chrome                         
190 376 05  gold                          
190 376 07  aranja

Shell - Depth

x5“ / x5 ½“  50mm

x6“ / x6 ½“  65mm
190 377 01  chrome                         
190 377 05  gold                          

LengthNo.                  

Slotted screw

6 pcs / pack

x6“ / x6 ½“  

x7“ / x7 ½“ / x8“

65mm

56mm

190 377 05  gold                          
190 377 07  aranja

190 343 01  chrome                         
190 343 05  gold                          
190 343 07  aranja



Badge / Logo,  chrome   No. 190 344 01
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)

Badge / Logo,  gold        No. 190 344 05
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)

Badge / Logo,  aranja     No. 190 344 07
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)



Snare Strainer complete
Snare Butt complete

190 443 01  chrome

190 443 05  gold

190 443 07  black chrome

190 442 01  chrome 

190 442 05  gold

190 442 07  black chrome



Snare Butt spare parts Snare Strainer spare parts

145 990 25

145 990 20  chrome 

145 990 21  gold

145 990 22  black chrome

145 990 25

145 990 31  chrome 

145 990 23  gold

145 990 24  black chrome

145 990 27

145 990 27

145 990 28  chrome 

145 990 29  gold

145 990 30  black chrome

145 990 26
4 pcs/pack

145 990 14  chrome 

145 990 15  gold

145 990 16  black chrome

145 990 14  chrome 

145 990 15  gold

145 990 16  black chrome

145 990 17  chrome 

145 990 18  gold

145 990 19  black chrome

145 990 26
4 pcs/pack



Drum steel hoop for batter side

10“   6 Rods    145 941 46   chrome
10“   6 Rods    190 124 05   gold
10“   6 Rods    190 124 07   aranja

12“   8 Rods    190 118 01   chrome
12“   8 Rods    190 118 05   gold
12“   8 Rods    190 118 07   aranja 

13“   8 Rods    190 120 01   chrome 
13“   8 Rods    190 120 05   gold
13“   8 Rods    190 120 07   aranja

14“  10 Rods    190 122 01   chrome
14“  10 Rods    190 122 05   gold
14“  10 Rods    190 122 07   aranja

Drum steel hoop for resonance side

10“   6 Rods    145 941 47   chrome
10“   6 Rods    190 125 05   gold
10“   6 Rods    190 125 07   aranja

12“   8 Rods    190 119 01   chrome
12“   8 Rods    190 119 05   gold
12“   8 Rods    190 119 07   aranja 

13“   8 Rods    190 121 01   chrome 
13“   8 Rods    190 121 05   gold
13“   8 Rods    190 121 07   aranja

14“  10 Rods    190 123 01   chrome
14“  10 Rods    190 123 05   gold
14“  10 Rods    190 123 07   aranja



Die-cast hoop for batter side

only for 14“ Snare Drum

190 003 01  chrome

190 003 05  gold

190 003 07  aranja

Die-cast hoop for resonance side

only for 14“ Snare Drum
190 004 01  chrome

190 004 05  gold

190 004 07  aranja



No replacement,   
please ask your
local dealer

SQ² Snare Drums                   
with steel hoop

SQ² Snare Drums 2012 
with Single - Lugs

No replacement,   
please ask your
local dealer

No replacement,   
please ask your
local dealer

190 011 01

4 pcs / pack

SQ² Snare Drum                   
with die - cast hoop

only for 14“ 



Lug complete 

190 341 01  chrome

190 341 05  gold

190 341 07  aranja

190 342 01

each 2 pcs / pack

190 269 01   

Torx – screw

ø5x13

20 pcs / pack  

for Vintage shell

for Thin shell

for Medium shell

for Acrylic shell 

for Heavy shell

190 270 01   

Torx – screw

ø5x16

20 pcs / pack  



190 335 01  chrome                         
190 335 05  gold                          
190 335 07  aranja

Shell - Depth

x5“ / x5 ½“  
50mm

x6“ / x6 ½“  65mm
190 336 01  chrome                         
190 336 05  gold                          

LengthNo.                  

Square head screw

6 pcs / pack

x6“ / x6 ½“  

x7“ / x7 ½“ / x8“

65mm

56mm

190 336 05  gold                          
190 336 07  aranja

190 255 01  chrome                         
190 255 05  gold                          
190 255 07  aranja



190 376 01  chrome                         
190 376 05  gold                          
190 376 07  aranja

Shell - Depth

x5“ / x5 ½“  50mm

x6“ / x6 ½“  65mm
190 377 01  chrome                         
190 377 05  gold                          

LengthNo.                  

Slotted screw

6 pcs / pack

x6“ / x6 ½“  

x7“ / x7 ½“ / x8“

65mm

56mm

190 377 05  gold                          
190 377 07  aranja

190 343 01  chrome                         
190 343 05  gold                          
190 343 07  aranja



Badge / Logo,  chrome   No. 190 344 01
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)

Badge / Logo,  gold        No. 190 344 05
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)

Badge / Logo,  aranja     No. 190 344 07
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)



Snare Strainer complete
Snare Butt complete

190 443 01  chrome

190 443 05  gold

190 443 07  black chrome

190 442 01  chrome 

190 442 05  gold

190 442 07  black chrome



Snare Butt spare parts Snare Strainer spare parts

145 990 25

145 990 20  chrome 

145 990 21  gold

145 990 22  black chrome

145 990 25

145 990 31  chrome 

145 990 23  gold

145 990 24  black chrome

145 990 27

145 990 27

145 990 28  chrome 

145 990 29  gold

145 990 30  black chrome

145 990 26
4 pcs/pack

145 990 14  chrome 

145 990 15  gold

145 990 16  black chrome

145 990 14  chrome 

145 990 15  gold

145 990 16  black chrome

145 990 17  chrome 

145 990 18  gold

145 990 19  black chrome

145 990 26
4 pcs/pack



Drum steel hoop for batter side

10“   6 Rods    145 941 46   chrome
10“   6 Rods    190 124 05   gold
10“   6 Rods    190 124 07   aranja

12“   8 Rods    190 118 01   chrome
12“   8 Rods    190 118 05   gold
12“   8 Rods    190 118 07   aranja 

13“   8 Rods    190 120 01   chrome 
13“   8 Rods    190 120 05   gold
13“   8 Rods    190 120 07   aranja

14“  10 Rods    190 122 01   chrome
14“  10 Rods    190 122 05   gold
14“  10 Rods    190 122 07   aranja

Drum steel hoop for resonance side

10“   6 Rods    145 941 47   chrome
10“   6 Rods    190 125 05   gold
10“   6 Rods    190 125 07   aranja

12“   8 Rods    190 119 01   chrome
12“   8 Rods    190 119 05   gold
12“   8 Rods    190 119 07   aranja 

13“   8 Rods    190 121 01   chrome 
13“   8 Rods    190 121 05   gold
13“   8 Rods    190 121 07   aranja

14“  10 Rods    190 123 01   chrome
14“  10 Rods    190 123 05   gold
14“  10 Rods    190 123 07   aranja



Die-cast hoop for batter side

only for 14“ Snare Drum

190 003 01  chrome

190 003 05  gold

190 003 07  aranja

Die-cast hoop for resonance side

only for 14“ Snare Drum
190 004 01  chrome

190 004 05  gold

190 004 07  aranja



SQ² Snare Drums                   
with steel hoop

SQ² Snare Drums 
with Single - Lugs

No replacement,   
please ask your
local dealer

SQ² Snare Drum                   
with die - cast hoop

only for 14“ 
No replacement,   
please ask your
local dealer

No replacement,   
please ask your
local dealer

190 011 01

4 pcs / pack



Lug complete 

190 341 01  chrome

190 341 05  gold

190 341 07  aranja

190 342 01

each 2 pcs / pack

190 269 01   

Torx – screw

ø5x13

20 pcs / pack  

for Vintage shell

for Thin shell

for Medium shell

for Acrylic shell 

for Heavy shell

190 270 01   

Torx – screw

ø5x16

20 pcs / pack  



190 335 01  chrome                         
190 335 05  gold                          
190 335 07  aranja

Shell - Depth

x5“ / x5 ½“  
50mm

x6“ / x6 ½“  65mm
190 336 01  chrome                         
190 336 05  gold                          

LengthNo.                  

Square head screw

6 pcs / pack

x6“ / x6 ½“  

x7“ / x7 ½“ / x8“

65mm

56mm

190 336 05  gold                          
190 336 07  aranja

190 255 01  chrome                         
190 255 05  gold                          
190 255 07  aranja



190 376 01  chrome                         
190 376 05  gold                          
190 376 07  aranja

Shell - Depth

x5“ / x5 ½“  50mm

x6“ / x6 ½“  65mm
190 377 01  chrome                         
190 377 05  gold                          

LengthNo.                  

Slotted screw

6 pcs / pack

x6“ / x6 ½“  

x7“ / x7 ½“ / x8“

65mm

56mm

190 377 05  gold                          
190 377 07  aranja

190 343 01  chrome                         
190 343 05  gold                          
190 343 07  aranja



Badge / Logo,  chrome   No. 190 344 01
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)

Badge / Logo,  gold        No. 190 344 05
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)

Badge / Logo,  aranja     No. 190 344 07
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)



Snare Strainer complete

Snare Butt complete

190 323 01  chrome

190 323 05  gold

190 323 07  aranja

190 322 01 chrome 

190 322 05  gold

190 322 07 aranja

190 276 01  chrome

190 276 05  gold

190 276 07 aranja

190 276 01  chrome

190 276 05  gold

190 276 07 aranja

190 270 01   

Torx – screw

ø5x16

20 pcs / pack  



Snare Butt complete

190 371 01  chrome

190 371 05  gold

190 371 07  aranja

Snare Strainer complete

190 370 01 chrome 

190 370 05  gold

190 370 07 aranja

190 270 01   

Torx – screw

ø5x16

20 pcs / pack  

190 372 01  chrome

190 372 05  gold

190 372 07 aranja

190 372 01  chrome

190 372 05  gold

190 372 07 aranja



Drum steel hoop for batter side

10“   6 Rods    145 941 46   chrome
10“   6 Rods    190 124 05   gold
10“   6 Rods    190 124 07   aranja

12“   8 Rods    190 118 01   chrome
12“   8 Rods    190 118 05   gold
12“   8 Rods    190 118 07   aranja 

13“   8 Rods    190 120 01   chrome 
13“   8 Rods    190 120 05   gold
13“   8 Rods    190 120 07   aranja

14“  10 Rods    190 122 01   chrome
14“  10 Rods    190 122 05   gold
14“  10 Rods    190 122 07   aranja

Drum steel hoop for resonance side

10“   6 Rods    145 941 47   chrome
10“   6 Rods    190 125 05   gold
10“   6 Rods    190 125 07   aranja

12“   8 Rods    190 119 01   chrome
12“   8 Rods    190 119 05   gold
12“   8 Rods    190 119 07   aranja 

13“   8 Rods    190 121 01   chrome 
13“   8 Rods    190 121 05   gold
13“   8 Rods    190 121 07   aranja

14“  10 Rods    190 123 01   chrome
14“  10 Rods    190 123 05   gold
14“  10 Rods    190 123 07   aranja



Die-cast hoop for batter side

only for 14“ Snare Drum

190 003 01  chrome

190 003 05  gold

190 003 07  aranja

Die-cast hoop for resonance side

only for 14“ Snare Drum
190 004 01  chrome

190 004 05  gold

190 004 07  aranja



SQ² Tom Toms

No replacement,   
please ask your

local dealer



Square head screw 56mm

6 pcs / pack

190 255 01  chrome

190 255 05  gold

190 255 07  aranja

Slotted screw 56mm

6 pcs / pack

190 343 01  chrome

190 343 05  gold

190 343 07 aranja

190 269 01   

Torx – screw

ø5x13

20 pcs / pack  

Lug complete

190 341 01  chrome

190 341 05  gold

190 341 07  aranja

190 342 01

each 2 pcs / pack

for Vintage shell

for Thin shell

for Medium shell

for Acrylic shell

for Heavy shell

190 270 01   

Torx – screw

ø5x16

20 pcs / pack  



Badge / Logo,  chrome No. 190 344 01
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)

Badge / Logo,  gold        No. 190 344 05
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)

Badge / Logo,  aranja No. 190 344 07
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)



8“ Tom Tom holder complete

190 265 01
2 pcs / pack

8x7    745 391 59    chrome

8x7    745 391 95    gold

8x7    745 391 97    aranja

8x8    745 392 59    chrome

8x8    745 392 95    gold

8x8    745 392 97    aranja

8x9    745 393 59    chrome

8x9    745 393 95    gold

8x9    745 393 97    aranja

8x10    745 394 59    chrome

8x10    745 394 95    gold

8x10    745 394 97    aranja

190 266 01  chrome

190 266 05  gold

190 266 07  aranja

190 345 01  chrome

190 345 05  gold

190 345 07  aranja

Prism Clamp complete

190 361 01  chrome

190 361 05  gold

190 361 07  aranja



10“ Tom Tom holder complete

10x7    745 395 59    chrome

10x7    745 395 95    gold

10x7    745 395 97    aranja

10x8    745 396 59    chrome

10x8    745 396 95    gold

10x8    745 396 97    aranja

10x9    745 397 59    chrome

10x9    745 397 95    gold

10x9    745 397 97    aranja

10x10    745 398 59    chrome

10x10    745 398 95    gold

10x10    745 398 97   aranja

10x11    745 39- 59    chrome

10x11    745 39- 95    gold

10x11    745 39- 97    aranja

190 265 01
2 pcs / pack

190 266 01  chrome

190 266 05  gold

190 266 07  aranja

190 345 01  chrome

190 345 05  gold

190 345 07  aranja

Prism Clamp complete

190 361 01  chrome

190 361 05  gold

190 361 07  aranja



12“ Tom Tom holder complete

12x7    745 388 59    chrome

12x7    745 388 95    gold

12x7    745 388 97    aranja

12x8    745 358 59    chrome

12x8    745 358 95    gold

12x8    745 358 97    aranja

12x9    745 359 59    chrome

12x9    745 359 95    gold

12x9    745 359 97    aranja

12x10    745 360 59    chrome

12x10    745 360 95    gold

12x10    745 360 97    aranja

12x11    745 361 59    chrome

12x11    745 361 95    gold

12x11    745 361 97    aranja

12x12    745 362 59    chrome

12x12    745 362 95    gold

12x12    745 362 97    aranja

12x13    745 363 59    chrome

12x13    745 363 95    gold

12x13    745 363 97    aranja

190 265 01
2 pcs / pack

190 266 01  chrome

190 266 05  gold

190 266 07  aranja

190 345 01  chrome

190 345 05  gold

190 345 07  aranja

Prism Clamp complete

190 361 01  chrome

190 361 05  gold

190 361 07  aranja



13“ Tom Tom holder complete

13x7    745 3-- 59    chrome

13x7    745 3-- 95    gold

13x7    745 3-- 97    aranja

13x8    745 3-- 59    chrome

13x8    745 3-- 95    gold

13x8    745 3-- 97    aranja

13x9    745 364 59    chrome

13x9    745 364 95    gold

13x9    745 364 97    aranja

13x10    745 365 59    chrome

13x10    745 365 95    gold

13x10    745 365 97    aranja

13x11    745 366 59    chrome

13x11    745 366 95    gold

13x11    745 366 97    aranja

13x12    745 367 59    chrome

13x12    745 367 95    gold

13x12    745 367 97    aranja

13x13    745 368 59  chrome

13x13    745 368 95  gold

13x13    745 368 97  aranja

13x14    745 369 59    chrome

13x14    745 369 95    gold

13x14    745 369 97    aranja

190 265 01
2 pcs / pack

190 266 01  chrome

190 266 05  gold

190 266 07  aranja

190 345 01  chrome

190 345 05  gold

190 345 07  aranja

Prism Clamp complete

190 361 01  chrome

190 361 05  gold

190 361 07  aranja



14“ Tom Tom holder complete

14x10    745 370 59    chrome

14x10    745 370 95    gold

14x10    745 370 97    aranja

14x11    745 371 59    chrome

14x11    745 371 95    gold

14x11    745 371 97    aranja

14x12    745 372 59    chrome

14x12    745 372 95    gold

14x12    745 372 97    aranja

14x13    745 373 59    chrome

14x13    745 373 95    gold

14x13    745 373 97    aranja

14x14    745 374 59    chrome

14x14    745 374 95    gold

14x14    745 374 97    aranja

14x15    745 375 59    chrome

14x15    745 375 95    gold

14x15    745 375 97    aranja

190 265 01
2 pcs / pack

190 266 01  chrome

190 266 05  gold

190 266 07  aranja

190 345 01  chrome

190 345 05  gold

190 345 07  aranja

Prism Clamp complete

190 361 01  chrome

190 361 05  gold

190 361 07  aranja



15“ Tom Tom holder complete

15x11    745 376 59    chrome

15x11    745 376 95    gold

15x11    745 376 97    aranja

15x12    745 377 59    chrome

15x12    745 377 95    gold

15x12    745 377 97    aranja

15x13    745 378 59    chrome

15x13    745 378 95    gold

15x13    745 378 97    aranja

15x14    745 379 59    chrome

15x14    745 379 95    gold

15x14    745 379 97    aranja

15x15    745 380 59    chrome

15x15    745 380 95    gold

15x15    745 380 97    aranja

15x16    745 381 59    chrome

15x16    745 381 95    gold

15x16    745 381 97    aranja

190 265 01
2 pcs / pack

190 266 01  chrome

190 266 05  gold

190 266 07  aranja

190 345 01  chrome

190 345 05  gold

190 345 07  aranja

Prism Clamp complete

190 361 01  chrome

190 361 05  gold

190 361 07  aranja



16“ Tom Tom holder complete

16x12    745 382 59    chrome

16x12    745 382 95    gold

16x12    745 382 97    aranja

16x13    745 383 59    chrome

16x13    745 383 95    gold

16x13    745 383 97    aranja

16x14    745 384 59    chrome

16x14    745 384 95    gold

16x14    745 384 97    aranja

16x15    745 385 59    chrome

16x15    745 385 95    gold

16x15    745 385 97    aranja

16x16    745 386 59    chrome

16x16    745 386 95    gold

16x16    745 386 97    aranja

190 265 01
2 pcs / pack

190 266 01  chrome

190 266 05  gold

190 266 07  aranja

190 345 01  chrome

190 345 05  gold

190 345 07  aranja

Prism Clamp complete

190 361 01  chrome

190 361 05  gold

190 361 07  aranja



13“ 6 Rods    190 053 01   chrome

13“ 6 Rods    190 053 05   gold

13“ 6 Rods    190 053 07   aranja

14“ 8 Rods    190 054 01   chrome

14“ 8 Rods    190 054 05   gold

14“ 8 Rods    190 054 07   aranja

15“ 8 Rods    190 049 01   chrome

15“ 8 Rods    190 049 05   gold

15“ 8 Rods    190 049 07   aranja

16“ 8 Rods    190 055 01  chrome

16“ 8 Rods    190 055 05   gold

16“ 8 Rods    190 055 07   aranja

8“

10“

12“

13“

14“

15“

16“

Hoops: 8“ 5 Rods    190 114 01   chrome

8“ 5 Rods    190 114 05   gold

8“ 5 Rods    190 114 07   aranja

10“ 6 Rods    145 941 46   chrome

10“ 6 Rods    190 113 05   gold

10“ 6 Rods    190 113 07   aranja

12“ 6 Rods    190 052 01   chrome

12“ 6 Rods    190 052 05   gold

12“ 6 Rods    190 052 07   aranja


	ALT_sq_2_piccolo_snare_drum_dual_glide_system_108692
	ALT_sq_2_snare_drums_dual_glide_system_108694
	ALT_sq_2_snare_drums_dual_glide_system
	ALT_sq_2_snare_drums_throw_off_action_108695
	sq_2_bass_drums_108689
	sq_2_floor_toms_108690
	sq_2_gong_toms_108691
	sq_2_piccolo_snare_drum_dual_glide_system
	sq_2_piccolo_snare_drum_throw_off_action_108693
	sq_2_snare_drums_double_lug_dual_glide_system
	sq_2_snare_drums_single_lug_dual_glide_system
	sq_2_snare_drums_throw_off_action
	sq_2_tom_toms_108696



